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| &%F 800mHBE B W S L3RI 17 £F 4x100 m Z)—L— FEINY
2 &F 50mE B W B4 LR 18 BF 4x100 m Z)—JL— S L3RI
3 BF 50mE B B4 LRI 19 £F 400 m Bk B4 LRI
4 HF  200mF Kk = B4 LRI 20 BF 400 m B B4 LRI
5 BF  200m T sk ¥ S L3RI 21 £F 400 m fHAARL— B4 LR BS
6 ZF  200mE )k = B4 LR 22 BF 400 m fAAARL— S L3RI
1 BF 200m & %k & RA LR K 8
8 ZF 200 m NETSA B4 LRI 23 £F  100m ¥ K = B4 LRI
9 BF  200m NETSA B4 LRI 24 BF  100m ¥ Kk ¥ B4 L3RS
N 25 &F 00m#&E %k £ BA LRB
10 BF 1500m B B W B4 LRI 26 BF  100m & Kk = B4 LRI
11 &%F 200mBE B W B4 LRI 27 &F 100 m NETSA B4 LRBE
12 BF  200mBE B W S LRI 28 BF 100 m /NETSA S L3RI
13 %F 200 m EAARL— B4 L3RRS 29 £F  100mEBE B W B4 LR
14 BF 200 m EAARL— B4 LR ES 30 BF  100mE @ W B4 LRI
15 £F 4x200 m 7)—JL— B4 LR B 31 £F 4x100 m ARL—L— S L3RI
16 BF 4x200 m FJ—JL— B4 LRI 32 BF 4x100 m ARL—JL— B4 LR
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